
26 Chapter 2  Test B

14 Label the bar model with the information and solve the problem.
Mark the quantities that need to be found with a question mark.

A basketball team scored 97 points in the first game.
The team scored 105 points in the second game.

They scored  points in the two games altogether.

How many more points did the team score in the second game than in 
the first game?

(a)  

How many points did they score in the two games altogether?

The team scored  more points in the second game.

(b)



88 Chapter 5  Test B

14 There were 99 adults at a city fair.
There were 3 times as many children at the fair.
How many children were at the fair?

There are             balloons in 4 packages.

There were             children at the fair.

11 864 × 3 = 
 
× 3 + 2,400

13 There are 144 balloons in one package.
How many balloons are there in 4 packages?

12 Write the missing digits.

2 ,

3

9

×

3 2



107Chapter 7  Test A

Section A (2 points each)

1

Name:

Date:

Chapter 7  Graphs and Tables

Test A

Circle the correct option: A, B, C, or D.

Which two are bar graphs?

M and N M and O

O and P N and P

A B

C D

1211

7

10 2

3

4
5

1

8

6

9

40

Score 30 min

M

O

N

P

Banana

Apple

Peach

Orange

White Red Black Blue

Pear

0 2

0

4

8

12

16

1

5

9

13

2

6

10

14

3

7

11

15

4 6 8 10 12 14 16

Number of Stickers

Dion Emma Alex Sofia Mei

Books Sold

Fri

Thur

Wed

Tue

Mon

Number of Baskets Sold

Car Color



116 Chapter 7  Test A

The table shows the number of each color of cars parked in a parking lot.

Complete the graph with the information shown in the table.

20

Black

Black

White Red Blue SilverCar

Number 48 70 55 31 19

0 10 20 30 40 50 60 70 80

Car Colors in Parking Lot



130 Continual Assessment 2  Test A

Section B (2 points each)

11 Write the number for nine thousand, forty-nine.

            is halfway between 650 and 660.

650 660

12

The number indicated by A is            .

3,000 4,000 5,000

13

A

14 Circle the values that are even numbers.

18 × 4 2,409 − 119 261 ÷ 3 804 + 117



131Continual Assessment 2  Test A

15 Complete the number pattern.

3,576 3,901 4,876

16 Fill in the 
 
with +, −, ×, or ÷ to make each equation true.

8  4 = 32 32  4 = 28

Write the missing digits.17

4
2 4

8
1

61
2


